
RAMAANYA TALENT SCHOLARSHIP EXAMINATION  

:- 

 

 

 

 

1. 

  (a) -5 + 1 = 4     (b) -7 + (-6) = - 13      

  (c) 2 + (-1) = 1  (d) 8+ (-9) = -1 

2.   

    (a) (b) (c) (d)  

3. 

(a) Rs. 6.5  (b) Rs. 8.75 (c) RS. 7 (d) 

 

4. 

(a) (b) (c) (d)  

 



5. 

(a) (b) (c) (d)  

6. 

(a) (b) (c) (d)  

7. 

(a) (b) (c) (d)  

8. 

(a) (b) (c) (d)  

9. 

(a) (b) (c) (d)  

10. 

(a) (b) 

(c) (d)  

11. 

(a) (b) (c) (d)  

12. 
24

32

(a) (b) (c) (d)  



13. 
5

63
—621

(a) 
20

63
(b) 

11

63
(c) 

11

21
(d) 

23

63
 

14. 

(a) 200 cm
2
 (b) 250 cm

2
 (c) 175 cm

2
 (d) 150 cm

2
 

15. 

(a) (b) 

(c) (d)  

16. 612 ÷ 69

(a) (b) (c) (d)  

17. 

(a) E (b) B (c) M (d) R 

18.  

 

     (a) 3y + 3 = 42     (b) 3y – 3 =42     

     (c) 3y = 42         (d) y + 3 = 42 

 

19. 

(a) (b) (c) (d)  

20. ∆𝐴𝐵𝐶  , ∆𝐷𝐸𝐹 𝐴𝐶 = 𝐷𝐹,   𝐴𝐵 = 𝐷𝐸,   𝐵𝐶 = 𝐸𝐹

∆𝐴𝐵𝐶 ≅ ∆𝐷𝐸𝐹



(a) ASA (b) RHS (c) SSS (d) SAS 

 

                                    

21. 

(a) (b) (c) (d)  

22. 

(a) (b) (c) (d)  

23. 

(a) (b) (c) (d)  

24. 

(a) (b) 

(c) (d)  

25. 

(a) (b) 

(c) (d)  

26. 

 (a)             

  (b)                



  (c)                

  (d)  

27. 

(a)   (b)                   

  (c)                        (d)  

28. 

(a)  (b)                  

  (c)                 (d)  

29. 

(a)   (b)                     

  (c)                 (d)  

30. 

(a)          (b)                  

  (c)                 (d)  

31. 

 (a)   (b)                  

  (c)                 (d)  

32. 

(a)   (b)               

  (c)                  (d)  



33. 

  (a)   (b)                  

  (c)                 (d)  

34. 

  (a)  (b)          (c)              (d)  

35. 

  (a)  (b)                  

  (c)                 (d)  

36. 

 (a) Na3CO3. 12H2O (b) NaCO3. 10H2O              

  (c) Na2CO3. 10H2O                (d) NaCO3. 8H2O 

37. 

 (a)  (b)              (c)               (d)  

38. 

 (a) (b)         

  (c)       (d)  

39. 

(a)  (b)                 (c)                 (d)  

 



40. 

(a)  (b)            (c)           (d) 

 

41. Who is the Poet of '' Where the mind is without fear ‘‘?  

  (A)  Tithi Tavora                 (B)  Ruskin bond  

  (C)  Rabindranath Tagore    (D) None of these  

42. When was Birsa Munda die ? 

  (A)  1989                            (B)  1900 

  (C)   1999                           (D)  1979 

43. Who is The Poet of  '' I saw a New world ?  

  (A) Urilliam Brighty                (B)  Henry w . Longfellow 

  (C)  Robert Lowis stevenson  (D) Harry Belafonte  

44. When uras william Brighty Rands born ? 

  (A)  1823                                  (B)  1821 

  (C)   1826                                  (D) 1825 

45. When was Alfred Noyes born? 

  (A) 12 September                   (B) 26 September  

  (C)  16 September                   (D) 28 September  



46. When was Alfred Noyes die?  

  (A) 30 June                              (B) 25 June  

  (C) 18 June                              (D) 11 June  

47. When was the first youth Olympics held?  

  (A) 2005                                 (B) 2004 

  (C) 2006                                 (D) 2010 

48. Who among the following was are Olympic medalist from Jharkhand ? 

  (A) Deepika kumari                (B) Anirban Chatterjee 

  (B) Jaipal Singh                        (D) Kaushal singh  

49. When did the Tibetan People Start the anti Chinese Riot ?  

  (A) 1986                                      (B) 1987 

  (C) 1988                                      (D) 1989 

50. When was Nelson Mandela died?  

  (A) 2 December                       (B) 3 December  

  (C) 4 December                       (D) 5 December  

51. When was Robert Louis Stevenson born ?  

  (A) November 13, 1850        (B) February 17 , 1850 

  (C) March 13 , 1850               (D) April  21 , 1850  

52. The Showroom of Jharcraft is in the midst of the city but the Products 

sell here are come from ----- of the State .   

  (A) Rough                    (B) Narroue 

  (C) Rigid                       (D) Corner 



53. Who was  the Poet of '' The Village Blacksmith ? 

  (A) Kenn Nesbitt                 (B) David Roth 

  (C) Henry Wadsworth           (D) Robert Louish  

54. Where was Henry Wadsworth born?  

  (A) Africa                           (B) America 

  (C) Australia             (D) England 

55. What language did Henry Wadsworth know ? 

  (A) African language          (B) Germen  Language  

  (C)  Italian Language             (D) European Languages  

56. Honesty is the -------Policy.  

  (A) Very Good               (B) Best  

  (C) Good                                (D) Better 

57. This is an---------question. i can solve it. 

  (A) Easier                        (B) Easy 

  (C) Easiest             (D) Very easy 

58. Sally Runs-------that Lois.  

  (A) Fast                           (B) More fast  

  (C) Faster                        (D) None of these  

59. Brian drives -------- 

  (A) Careful                 (B) More Careful  

  (C) Carefully              (D) None of These  



60.   The Lamp Has------Out.   

  (A)  Gone              (B) Going 

  (C) Went             (D) Will go  

 

(61).  

(A)  (B)   (C)  (D)  

(62). 

(A) 50.89%  (B)  60.32%  (C) 58%  (D) 56.21%  

(63). 

(A) 36%  (B)  37%  (C) 38%  (D) 48%  

 

(64). 

(A)    (B)    (C) (D) 

(65). 

(A)   (B)    (C) (D)  



(66). 

(A)      (B)  

(C) (D)  

(67). 

   (A)  (B)   (C)   (D)  

(68). 

  (A) I - Mac    (B) T - Bird    

  (C) T – 3A      (D)  Mac 05X 

(69). 

(A)      (B) 

(C)       (D)  

(70).

(A)   (B) (C)   (D)  

(71). 

(A)   (B) (C)   (D)  

(72). 

(A)   (B) (C)    (D)  



(73). 

(A)  (B)  (C)  (D)  

(74). 

(A) 380 KM  (B)  308 KM (C) 360 KM  (D) 383 KM  

 

(75). 

  (A)  (B)  (C)  (D)  

(76).  

(A)      (B)    

(C)     (D)  

(77). 

(A)   (B)   (C)   (D)  

(78). 

(A)   (B)   (C)   (D)  



(79). 

(A)    (B)    (C)  (D)  

(80). 

(A)     (B)   

(C)     (D)  

 


